
13F 14A

1) 3X+ 7 = 43 8) -2((11 )+7)+4(11 )=4((11 )-9) 1) done 10) (18x9+3)2_102=
3X= 43-7 -2(18) + 44 = 4(2) 2) 20 x 9 - 14 -;-.7= (162 +3)2 -102 =
3X= 36 -36+44=8 180 - 2 = 178

1652 -102 =X=12
8=8 3) 120-;-.10-2x3+5= 27,225 -100 = 27,1252) 3(12) + 7 = 43
52 +122 = H2 12-6+5=11 152 +(12+ 3)3 -(6 +3)2 =36 + 7 = 43 9) 11)

43 =43 25 +144 = H2 4) 82 +2-6 x22 = 152+43_22=

3) 70 + 3 = 30 + 7 + 40 169 = H2 64-;-.2-6x4= 225 + 64 - 4 = 285

70 - 30 = 7 + 40 - 3 H = 13 miles 32 - 24 =8 12) (8 + 1)2 + 3 +9 x 32 =

40= 44
10) 1Q =.§. 5) 5 x3+63 -10 x3= 92 +3+9x32 =

0=11 16 8 81 +3 + 9x 9 =
4) 7(11) + 3 = 3(11) + 7 + 40 g 5 x 3 + 216 -10 x 3 =

27 +81 = 10811)
16 15 + 216 - 30 =20177+3=33+7+40 13) done

80=80 12)
-±.. =.1.

6) 1fx5-7x8-16= 14) done16 4
5) 11A - 4A - 18 = 2A + A + 10

~x.1.=2 121 x 5 - 7 x 8 - 16 = 15) done
7A -18 = 3A + 10 13)

8 7 56 605 - 56 - 16 = 533 16) 9(2(4) - 6) = 2(7) + 22
7A- 31\ = 10 +18 ~ +.1. = ~ x.§?~ 6

4A = 28 14) 7) (16 + 9) + (8 + 3) x 8 = 9(8 - 6) = 14 + 44 8 l: 1
A=7

~+1~ =»;~= 1: =2~

25 + 11 x 8 = 9(2) = 18

6) 11 (7)-4(7)-18=2(7)+ (7)+10
15) 25 + 88 = 113 18 = 18

77 - 28 - 18 = 14 + 7 + 10 3.l + 2 .L = 5 + 30 + 35 = 5 + 65 = 5 + 1E = 6 2.... 2
42 - 22 + 5 x 3 = A16) 8) (4 + 6) x9 - 6 x 5 = 17)5 10 50 50 50 50 10

31 = 31 10x81-6x5= 16-4+5x3=A

7) -2(X+ 7) + 4X = 4(X - 9) 17) 2 JL + 42 = 6 + 72 + 50 = 6 122 = 6 + 142 = 711-
810 - 30 = 780 16-4+15=A10 8 80 80 80 80 40

-2X-14+4X= 4X- 36
'3.1. + 1.l = 4 +.1 + §. = 41Q = 4 + 1£ = 51 112-(22 +3)x5 =

27 =A

2X - 14 = 4 X - 36 18)
24888 84 9)

18) 42 - 22 + 5 x 3 = (27)
2X-4X= -36 +14 6 2 rf3 8 112-(4+3)x5 =

16 - 4 + 5 x 3 = 27
-2X= -22

19) 8+8=.:ex~=3 112 - 7 x5 =
16-4+15=27

X = 11 20) 4N+8N= 24 112 - 35 =77
27=27 (J)

12N= 24 0
cN= 2 •....•.
0"
:::J
(Jl
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VJ
11
I
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.j::>.
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148 14C

1) 8x6+9x3= 11) 2 2 2 1) 8x9+18+3= 12) (4+5)3 _(7+8)2 +(5 x2)3 =8 - 4 + (3 + 1) + 6 =
48+27=75 72 +6 = 78

2) 48 -i- 6 - 2 x 3 = 8 - 6 = 2 82 _42 + (4)2 +6 =
2) 14 + 18 x 5 - 100 + 5 = 93_152 +103 =

3) 69 + 3 + 5 x 8 - 6 =
64 - 16 + 16 + 6 = 14 +90 - 20 = 84 729 - 225 + 1,000 = 1,504

23+40 -6 =57
64-1+6 =69

3) 36 + 120 + 12 - 6 x 3 = 13) A+22-6·8+2=-41

4) 92+2_6x32:: 12) (3+9)2 _(2+3)3 +(90 +10) = 36 + 10 -18 = 28 A + 4 - 48 +2 = -41

81+2-6x9= 122 - 53 +9 = 4) 52-3x6+43-10= A -42 = -41

81 +2 - 54= 29 144 - 125 + 9 = 28 25 - 3 x 6 + 64 - 10 = A = -41+42

102 + 5 - 43 - 12 = 13) 2(5- 4+1)+ F-2 = 5 25-18+64-10=61 A= 1
5)

100 +' 5 - 64 -1 2 = 2(2) + F- 2 = 5 5) 62
X 5 - 24 + 18 x 2 = 14) (1)+22-6'8+2=-41

20 - 64 -12 = -56- 4+F-2=5 36 x 5 - 24 + 18 x 2 = 1 +4-48+2=-41

150 - 1f + 63 + 12 =
F= 5- 4+2 180 - 24 + 36 = 192 -41 = -41

6)
F=3 3(Q-6) =2(2Q+ 7)+10

150-121+216+12= 6) 92+72_53+33_25= 15)
14) 2(5 - 4 + 1) + (3) - 2 = 5 3Q-18 = 4Q+14+10

150 -121+18 = 47 81 + 49 - 125 + 27 - 32 = 0
2(2) + 3 - 2 = 5 3Q -4Q = 14+10 +18

7) (17 +9)x5-(18x6)=
4+3-2=5

7) (18 + 3) x 6 - (20 x 2) = -Q = 42
26 x5 -108 = 21 x6 - 40 = Q =-425 ='5
130 -108 = 22 126- 40 =86 16) 3((-42) - 6) = 2(2(-42) + 7) + 10

8) (5+3)x(82 -2)x20 =
15) ,-X(-2+1) =52 +23

8) (6+5)X(43-10)x5= 3(-48) = 2(-84 + 7) + 10
8 x(64-2)x20 = -X(-1) = 52 +23 1Jx (64 - 10) x 5 = -144 = 2(-77) + 10
8 x62 x20 = 9,920 X = 25 +8 11x 54 x5 = 2,970 -144 = -154 + 10

X= 33'

9) 148-(42 +3)X6 = 9) 498-(53 +3)x3=
-144 = -144

16) -(33)(-2 + 1) = 52+23
148 - (16 + 3) x 6 = -33(-1) = 25 + 8 498 - (125 + 3) x 3 = 17) 82(F -1) =5(6F-6)

148 -19 x 6 =
33 =33

498 -128 x 3 = 64(F -1) = 30F -30
148 -114 = 34 498 - 384 = 114 64F - 64 = 30F - 30

17) (3 + X) - (2·2) +6 = 9 64F - 30F = -30 + 64)2 2 10) (64+16 x3)3 -20 x43 =10) (72+12x5 -18 x3 = 3+X-4+6=9
34F = 34

(30)2 -18x32 = X=9-3+4-6 (12)3_20x43= F=1
900 -18 x9 = X='4 1728 - 20 x 64 =

(f)

18) 82((1) -1) = 5(6(1) - 6)
Q.

900 -1 62 = 738 18) (3 + (4)) - (2 ' 2) + 6 = 9 1728 - 1280 = 448 c-
7-4+6=9 64(0) = 5(0) o·

122 _ 52 + (2 + 3)2 + 72 =
::J

11) 0=0 (J)

9=9 -'-
144 - 25 + (5)2 + 49 =

.j:>,
OJ

144 - 25 + 25 + 49 = -'-
144 -1 + 49 = 192 .j:>,

0
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1) 6x7+9x3=

42 + 27= 69

2) 30 x 6 - 35 + 7 =
180-5=175

3) 140.;..10 - 3 x 4 + 16 =

14-12+16=18

4) 53 + 52 x 6 - 9 x 1=

125+25x6-9x1=

30-9 = 21

5) 2 X(-8 - 4) + 32 ::: -5 x(2 3 ) - 7
2X(-12) +9 = -5X(8)-7

-24X +9 = -40X-7
-24X+40X= -7-9

16X = -16
X= -1

6) 2(-1)(-8-4) + 32 = -5(-1)(23) - 7

2(-1)(-12) + 9 = -5(-1)(8) - 7

24 + 9 = 40 - 7

33 =33

7) 5X-X+4-5=3X+2X-3
4X -1 = 5X - 3

4X-5X= -3+1
-X= -2

X=2

8) 5(2) - (2) + 4 - 5 = 3(2) + 2(2) - 3

10-2+4-5=6+4-3

7=7

9) (-8)(-8) = 64

10) -16

11) -1

12) _1
4

13) done

14) done

15) 51 =
5..1.. - 41.§.

4 12 - 12

- 1£ = - 1~ - - 1~---.3.. 12 - __ 1_2
7312

16) 7.1-3.£=7~-3.1.=6~-3.1.=3.§.
2366666

17) 32 +62 = 82

9 +36 = 64
45 ct 64; no

18) 2M = 4x5
2M = 20

M = 10

14E

1) 8x3+73-12x5= 8) 1·2·3·4 - (-2)(5'6) = -7(8(-2) + 4)

8 x 3 + 343 -12 x 5 = '24 c ("2)(30) = q(-r6 + 4)

24 + 343 - 60 = 307 24+60=-7(-12)

2) 122 x26 +33 _ 43 =
84=84

144 x 64 + 27 - 64 = 9) 9

9,216 +27 -64= 9,179 10) 5 x 5 = 25

3) (20x11)+(12 -8)x10 =
11) -16

220 + 4x10 = 12) JL
220 + 40::: 260

16

4) (5+8)+(62_7)x8=
13) 6.1-5.1.=62.-5.:11.=

3 5 15 15

13+(36-7)x8= 5 20 -5.:11.=~

13 +29 x8 =
15 15 15

13+232 = 245
14) 9-6~=8§.-6],=2§.

8 8 8 8

5) 2 15) 8'£-7.1=81.§.-7..1..=11]"4A = 3 (10 - 6)
4A = 9(4)

3 8 24 24 24

A=9 16) 9~-2.1 =9.2.-2.1.:::
4 2 8 8-

6) 4(9)::: 32(10 - 6) ~_.£---=J .1--1L--

36 =9(4)
8 4-

36=36 17) 1.§.x .1 = 1.§.= 1I

1·2·3·4 -A(5· 6) = -7(8A+4)
188 8

7) 18) 2M +20 = 80
24 - 30 A = -56A - 28 2M = 60

-30A +56A = -28-24 M = 30 mph
26A = -52

A =-2

(J)
0c-o·
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(f)
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14F 15A 158

1) (63 X5)-(52 +54)x3 = 7) 2(A+3)=25+6 1) done 1) 2(5 x 6) + 2(6 x 4) + 2(5 x 4) =

(21 6 x 5) - (25 + 54) x 3 = 2A+ 6 = 32 + 6 2) (4 x 4) x 6 = 96 sq. ft. 2(30) + 2(24) + 2(20) = "

1,080 - 79 x 3 = 2A = 32 3) 2(6 x 10) + 2(6 x 15) + 2(10 x 15) = 60 + 48 + 40 = 148 sq. ft.

1,080 - 237 = 843 A = 16 2(60) + 2(90) + 2(150) = 2) 6(7 x 7) =

(24 x 11+ 6)2 - (154 + 11)3 =
8) 2«16) + 3) = 25 + 6 120 + 180 + 300 = 600 sq. in. 6(49) = 294 sq. units

2)
2(19):: 32 + 6 4) 2(5 x 16) + 2(5 x 10) + 2(16 x 10) = 3) 2(8 x 10) + 2(8 x 3) + 2(10 x 3) ==

(264+6)2 _(14)3 =
38 =38 2(80) + 2(50) + 2(160) == ?(80) + 2(24) + 2(30) =

2702 _143 = 9) ±10 160 + 100 + 320 = 580 sq. ft. 160 + 48 + 60 = 268 sq. in.
72,900 -2,744=70,156 10) ±A 5) done 4) 2(2 x 7) + 2(7 x 5) + 2(2 x 5) ==

3) 182 +(14+7)6 _(8+2)2 = 11) -9 6) 4(6 x 8 x 1/2) + (6 x 6) == 2(14) + 2(35) + 2(10) =

182 + 26 _ 42 :0 12) ±f
4(24) + 36 = 28 + 70 + 20 =118 sq. yds.

96 + 36 = 132 sq. in. 5) 4(5 x 8 x 1/2) + (5 x 5) =
324+64-16 = 372

13) 8~-2..§.=8 27 -2 40 = 7) 2(20 x 30) = 4(20) + 25 = 80 + 25 = 105 sq. units
(9 + 3)2 + 9 + 8 x 44 = 5 9 45 45

4)
7 72 _ 2 40 = 5 32 2(600) == 1,200 sq. It. 6) 4(5 x 4 x 1/2) + (4 x 4) =

122 +9 +8 x44 = 45 45 45 8) 1,200 -i- 100 = 12 squares 4(10) + 16 = 40 + 16 = 56 sq. in.
144 + 9 + 8 x 256 = 14) 5 .1. - 1§. :0 5 ~ - 120 = 7) 2(24 x 10) + 2(30 x 10) + 2(16 x 24 x 1/2) =
16 + 2,048 = 2,064 4 6 24 24

2(240) + 2(300) + 2(192) =30 20 10 5
5) ax + 2 ) + 5X = 6 X + 14 4 24 -1 24 = 3 24 = 312 480 + 600 + 384 = 1,464 sq. It.

3X+6 +5X = 6X +14 3 7 24 28 8) 15 squares15) 4--1-=4--1-=
8X+6 =6X+14 4 8 32 32

8X-6X= 14-6 3 56 -1 28 = 2 28 = 2 Z
32 32 32 8

2X=8
3 1 30 4 34 17X=4 16) 2 "4 + 110 = 2 40 + 140 = 3 40 = 3 20

6) 3«4) + 2) + 5(4) = 6(4) + 14
~+i=~XT=t=2~3(6) + 20 = 24 + 14 17)

18+20=38 18) 7N-4 = 4N+20
(
---

38 = 38 7N- 4N =20 +4 )5 (J)

3N =24 0
c

N =8 -o·
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